Multiplying 3-Digit Numbers
by 1-Digit Numbers

1) 2) 3) 4)
12 7 6 0| 2 2 9 1 18 3
x 5 x 3 X 4 x 7
5) 6) 7) 8)
4 1 6 | 6 9 2 | 8 5 1 9 3 7|5
x 2 x 3 x 6 x 8
9) 10) 11) 12)
4 1 4 10 1 51 2 7130 516 | 2
X 5 X ] X 4L X 2

13) Complete the following
calculations by filling in
the missing numbers.

14) There are 280 paperclips in a box.
A teacher has 4 boxes of paperclips in her
stationery cupboard. How many paperclips
does she have in total? Use the column
method to work out your answer.

a) b)
2 4 3 6 1 5
x x 4
729 2 6 O
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Multiplying 3-Digit Numbers
by 1-Digit Numbers Answers

1) 2) 3) 4)
1 2 7 6 O | 2 2 9 1 18 3
x 5 x 3 x 4 x 7
6 3 | 5 1 8 0 6 1 1 6 &4 1|2 8 1
5) 6) 7) 8)
4 6 | 6 9 2 | 8 5 119 3 7 5
x 2 x 3 x 6 x 8
9 3 | 2 2 7 8 &4 3 1 1 4 3,0 0 O
9) 10) 11) 12)
4 4 | 0 1 51 2 7 3]0 516 | 2
x 5 x 9 x 4 x 2
2 2 0 O 1 3 6 8 2 9 2 O 1 1 2 4
13) Complete the following 14) There are 280 paperclips in a box.
calculations by filling in A teacher has 4 boxes of paperclips in her
the missing numbers. stationery cupboard. How many paperclips

does she have in total? Use the column
method to work out your answer.

a) b) There are 1120 paperclips.
2 4 3 6 1 5

x 3 x 4
7 2 9 2 41 6 | O
1 2

w visit twinkl.com @


https://www.twinkl.co.uk/resources/ks2-maths/ks2-calculations/ks2-multiplication

